Ba/ALTE (BA)-301

2019
( 3rd Semester )

ALTERNATIVE ENGLISH :

Paper No. : ALTE-301

( Poetry, Short Story and Composition )

Full Marks : 70 Paés Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 54 )

The figures in the inargin indicate full marks
for the questions

1. (a) Examine Blake’s The Tyger as a work of
Art. 10

Or

(b) Hopkins’ God’s Grandeur is a song of
praise. Discuss.
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2. (a) Analyze the prayer of the father in the |
poem, A Prayer for My Daughter. 10

Or

(b) Discuss Frost’s Stopping by Woods on a
Snowy Evening as a nature poem.

3. How did the imp make the peasant fall into
~ temptation? - 10 |

4. How did Sherlock Holmes solve the mystery
in A Case of Identity? | 10

5. Writea paragraph on any one of the following
topics : 14

(a) The perfect job

(b) Capital punishment

(c) College life
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Ba/ALTE (BA)-301

2019
( 3rd Semester )

ALTERNATIVE ENGLISH
Paper No. : ALTE-301

( Poetry, Short Story and Composition )

( PART : A—OBJECTIVE )
( Marks : 16)

Answer all questions

Each question carries 2 marks
Answer the following questions briefly :

1. Why does Shelley want the west wind to make him a lyre?
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2. What do the six dicing hands, three trees and the

galloping horse symbolise in the poem, The Journey of
the Magi ?
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3. Cite two examples of simile from God’s Grandeur.
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4. What are the only sounds heard in the deep woods in the
poem, Stopping by Woods on a Snowy Evening?
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5. Why did Mary Sutherland come to meet Sherlock Holmes?
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6. Why are the two young couples considered as the wisest
of gift givers?
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7. How did the peasants behave after drinking the third
glass of wine?
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8. Why did the lawyer break the contract?
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